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6 3 Perform Function Operations =
and Composition
You performed operatians with algebraic expressions, {

@TTE  vou will perform aperations with functions i
@TITZ 5o you can model biological processes, as in Example 3. 9502

If f(x) = 5x, g(x) = x + 2 Then...

Add Functions £)+o)=
Subtract Functionsg®)-f(= )(}Z\SX
Multiply Functions %)= ¢ 2fox[o 110¥
Divide Functions %:

Jan 20-8:28 PM

Compositions of Functions:
1st Job - Evaluate one function within another function
fix)=5x, gx)=x+2

fe() = S (x42)=Bxano) e(tix)) =
£0= 55 ) 16)=
509 = o)=i2

another way of saying the same thing...

fog f@x) fofgeft
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Quiz Over Properties...

Mar 27-2:19 PM

fx)=4x12  g(x)=-9x12

Add F () t9(x)=
Subtract

Divide 3(\0
f(\()

3(,() -F(tﬁé— —-Oh( L?X
Multiply ¢ ¢y . o) = L%x’ "%( 7
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2nd Job - Find the indicated value of the new function

found

f(x) = 5x, g(x)=x+2

f(g(4)) = 230 ]
Skgs
.F\ug x=tl i 9
s The answev ¢oos
into &

a(1(-6)) =

Jan 22-12:00 PM
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Practice - YOU TRY SOME...

=4x - =3x7! - X3
Standardized Test Practice fix) =4x-2, g(x)=3x" h(x) 2
Let f(x) = 2x — 7 and g(x) = x° + 4. What is the value of g(f(3))?
® -5 ® -3 ®© 3 @ 5 1) flgk)) = 2) g(ftx) =
Solution
To evaluate g(f(3)), you first must find f(3) 3 f(h(x) 8 4660
fBy=2@)-7=-1
Theng(f(3) =g(-1) = (-1)* +4=1+4=5

So, the value of g(f(3)) is 5.

P The correct answer is D. ® @ © @

Zx-(o— 2
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Word Problems. - why
Mrs Brenner wont shop  Drice 4, Pocct
at Macy's X g
You have a $10 gift card and a 15% off coupon to Macys.
Which deal is better.

Compositions 1st then 2nd...which is better 1st
then the other..I'm already confused
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